[INEBEX Y T NMRIFIEAIY Y TR Z— ]
ZZADHAT YT Y — RER L

20194E4 A ~202043 A
[1.48 8¢ SE 42
BiE A—JL &i
a&t 110 141 251
5t 1 ¢ 5 91 141 232
X&)l (BEEAER) 19 4
[2.FIABEFDFER]
etk
HEAB BB ILERQO
BiE A—JL &i
] 53 55 108
g3 19 5 24
&5t 72 60 132
4 51 - 4 5 B A 3K
20mE ki 200 | 304t | 404 | 501t oLl AER | &t
2] 0 12 32 34 21 9 0 108
gq 0 1 9 7 2 4 1 24
=k 0 13 41 41 23 13 1 132
AN/ RERNAE
B A—JL &F
AN 51 53 104
Rk 21 7 28
&E& 72 60 132
XM REEEIIARK
gl wrns ww | 0L | zom | wm | e
=i 75 36 28 10 12 23 184
XKZDMh: ZZfE-/ S Foa%F
XEBEAIUEHY




QF A FIFEF

P4 51 - £ i B A 3
20meAkim 200K | 304k | 404 | 501% leomLlE] ABR | A%
2 0 12 31 32 21 6 0 102
£°S 0 0 0 2 0 0 0 2
&5t 0 12 31 34 21 6 0 104
M REEEIIA R
s wsns| mw | 27N | zom | Am | e
=X11 57 29 24 9 9 20 148
XEHEHNIUIHY
@—1: KiEH AE (FIAEHEHRES)
A% Al A 3
fREE | XE + # HRE| R | ot | &5t
N 16 3 7 0 0 0 2 28
14 1l - 4F n Bl A\ 3
20mAim 200 | 304% | 404 | 501t leomLltE AER | At
2 0 0 1 1 0 3 0 5
8 0 1 9 6 2 4 1 23
=118 0 1 10 7 2 7 1 28
@ —2: REF AR (R EFHFHRES) X RE=FrTILELTIEA
4 51 - 4F 5 B A 3K
20mE ki 200 | 304t | 404 | 501t oLl AER | At
5 0 4 7 6 2 3 4 26
£°8 0 0 0 0 0 0 0 0
FBH 0 0 0 0 0 0 2 2
=118 0 4 7 6 2 3 4 28
XM REEEIIARK
cxpElwrnn we | 27) | zor | 7 | e
aat 18 7 4 1 3 3 36

KEENIEHY



